



HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT

Office of the Executive Engineer National Highway Division HPPWD Theog.

Email: eenh-theog-hp@gov.in Phone/ Fax No.: 01783-238900

NO.PW.THD/CB/TENDER/Tender Notice/2025
To

7729-31

Dated: 1-1-2026

The Executive Engineer,(IT)
Nigam Vihar Shimla 2

Subject:- Publication of tender Notice.

Enclose please find herewith the Tender Notice of the works as given in the Notice inviting Tender for uploading on department website as per Notification Pr. Secy. (PW) to the Govt. of HP letter No PBW(B)A(3)1/2024 dated 03.01.2024 as the work mentioned in the tender notice are urgent in nature and in public interest.

Encl:- Schedule of Quantity.

Executive Engineer,
NH Division,
H.P.P.W.D., Theog

Copy forwarded to the Superintending Engineer NH Circle Shimla
HP PWD for information please.

Copy forwarded to the Computer Cell O/O Executive Engineer(IT)
Cell), Nigam Vihar Shimla-2 for information and further necessary action please.

Executive Engineer,
NH Division,
H.P.P.W.D., Theog

Himachal Pradesh
Public Works Department
Notice Inviting Tender

Sealed Percent rates tender form No 7 & 8 are hereby invited by the
Executive Engineer NH Division HP PWD Theog for the following works on behalf of the Governor of Himachal
Pradesh from the eligible contractors enlisted in HP PWD so as to reach in this office as per time schedule Given
below:-

- 1 Date of receipt of Applications for tender forms:
- 2 Date of issue/sale of Tender forms:-
- 3 Date of receipt of Tender:-
- 4 Date of opening of Tender

08.01.2026 upto 12:00 PM
08.01.2026 upto 4:00 PM
09.01.2026 upto 10:30 AM
09.01.2026 upto 11:00 AM

Sr. No	Job No.	Name of Works	Estimated Cost	Earnest Money	Cost of form	Time Period for completion
1	1	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 8/000 to 8/800)	98907.00	2000	350/-	3 Months
2	2	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 8/800 to 9/600)	98167.00	2000	350/-	3 Months
3	3	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 9/600 to 10/400)	98253.00	2000	350/-	3 Months
4	4	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 10/400 to 11/200)	98444.00	2000	350/-	3 Months
5	5	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 11/200 to 12/00)	99121.00	2000	350/-	3 Months
6	6	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 12/000 to 12/800)	98702.00	2000	350/-	3 Months
7	7	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 12/800 to 13/600)	98150.00	2000	350/-	3 Months
8	8	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 13/600 to 14/400)	98859.00	2000	350/-	3 Months
9	9	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 14/400 to 15/200)	98731.00	2000	350/-	3 Months

10	10	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 15/200 to 16/000)	98766.00	2000	350/-	3 Months
11	11	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 16/000 to 16/800)	98268.00	2000	350/-	3 Months
12	12	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 16/800 to 17/600)	99081.00	2000	350/-	3 Months
13	13	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 32/00 to 33/000)	98358.00	2000	350/-	3 Months
14	14	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 33/000 to 34/000)	98358.00	2000	350/-	3 Months
15	15	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 34/000 to 35/00)	98358.00	2000	350/-	3 Months
16	16	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 35/000 to 36/000)	98358.00	2000	350/-	3 Months
17	17	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 36/000 to 37/0000)	98358.00	2000	350/-	3 Months
18	18	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 37/000 to 38/000)	98358.00	2000	350/-	3 Months
19	19	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 38/000 to 39/000)	98358.00	2000	350/-	3 Months
20	20	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 39/000 to	98358.00	2000	350/-	3 Months

		40/000)				
21	21	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 59/000 to 61/000	98648.00	2000	350/-	3 Months
22	22	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 61/000 to 63/000)	98702.00	2000	350/-	3 Months
23	23	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 63/000 to 65/000)	98702.00	2000	350/-	3 Months
24	24	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 65/000 to 67/000)	98783.00	2000	350/-	3 Months
25	25	Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 67/000 to 69/000)	98783.00	2000	350/-	3 Months

Terms & Conditions:- The tender documents shall be issued to those contractors/firms who fulfill the following documents with the application:

- 1 The valid enlistment/ registration of contractor in appropriate class.
- 2 Permanent Account Number(PAN)
- 3 GST Number and EPF No.
- 4 Earnest Money in the shape of National saving certificate/Time deposit account in any of the Post office in HP FDR from Tender form for the above works should be submitted with the application for the purchase of the tender forms. The application received without earnest money & Cost tender form shall summarily be rejected.
- 5 Ambiguous/telegraphic/Conditional tender of tender by fax/ E-mail shall not be entertained/considered and will summarily be rejected.
- 6 Executive Engineer reserves the right to reject or cancel any or all the tenders without assigning any reasons.
- 7 The offer of the tender shall remain valid upto 120 days after the opening of tender.
- 8 If the date given above happens to be a holiday, the same shall be processed on next working days.
- 9 The Contractors/firm must quote their rates in words as well as in figures failing which Xen reserves the right to accept/reject any or all tenders.
- 10 The Tender form will not be issued to those contractors/firms whose previous performance is not found satisfactory and who have not executed/completed the previous awarded works within the stipulated period of completion.
- 11 One Contractor should not have more than two works in hand at a time.
- 12 Works should be completed by the contractor within the stipulated period.

No/PW/NH/CB/Tender/2025

7723-28

Copy forwarded for information and necessary actions to:

- 1 The Superintending Engineer NH Circle HP PWD Shimla .
- 2 All the Assistant Engineer working under this Division
- 3 The Drawing Branch/Account Branch in this office.
- 4 Notice Board.

Dated

11/12/2020

Executive Engineer,
NH Division,
H.P.P.W.D., Theog

Executive Engineer,
NH Division,
H.P.P.W.D., Theog



NATIONAL HIGHWAY(NH-05)
HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT
DIVISION THEOG

Certificate

Certified that the tenders of works as called
vide this office NIT No/PW/NH/CB/Tender/2025- T123-28 Dated 11/12/2026
are urgent nature and public interest.

Executive Engineer,
NH Division,
H.P.P.W.D., Theog

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98907
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of choked drains between R.D. 8/000 to 8/8000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4805	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23833
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	753	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54645
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	760	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20429
Total						98907
(Quoted Rates in Figures)(+/-)				(..... %)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98167
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of choked drains between R.D. 8/800 to 9/600)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	745	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54065
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	755	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20294
Total						98167
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

**Executive Engineer,
NH Division HPPWD,
Theog.**

SCHEDULE OF QUANTITY

-			Estimated Cost: Rs:-	98253
			Earnest Money Rs:-	2000
			Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 9/600 to 10/400)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4600	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	22816
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	758	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	55008
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	760	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20429
Total						98253
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98444
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of choked drains between R.D. 10/400 to 11/200)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4650	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23064
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	755	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54790
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	766	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20590
Total						98444
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY						
				Estimated Cost: Rs:-	99121	
				Earnest Money Rs:-	2000	
				Time.	3 Month.	
Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of choked drains between R.D. 11/200 to 12/000)						
Sr. No.	Description of item	Quantity	Unit.	Rate		
				In figure	In words	Amount
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4651	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23069
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	765	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	764	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20536
Total					99121	
(Quoted Rates in Figures)(+/-)		(.....%)				
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98702

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of choked drains between R.D. 12/0000 to 12/800)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4645	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23039
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	760	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	55153
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	763	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20509
Total						98702
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98150
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 12/800 to 13/600)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4640	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23014
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	752	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54573
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	765	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20563
Total						98150
(Quoted Rates in Figures)(+/-)		(.....%)				
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98859
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 13/600 to 14/400)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4642	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23024
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	762	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	55298
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	764	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20536
Total						98859
(Quoted Rates in Figures)(+/-)				(..... %)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98731

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of choked drains between R.D. 14/400 to 15/200)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4640	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23014
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	760	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	55153
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	765	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20563
Total						98731
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98766

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov. & applying White washing , Clearance of choked drains between R.D. 15/200 to 16/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4645	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23039
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	762	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	55298
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	760	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20429
Total						98766
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98268

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov. & applying White washing , Clearance of choked drains between R.D. 16/000 to 16/800)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4648	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23054
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	759	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	55081
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	749	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20133
Total						98268
(Quoted Rates in Figures)(+/-)		(.....%.)				
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of choked drains between R.D. 16/800 to 17/600)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4650	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23064
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	766	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	55589
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	760	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20429
Total						99081
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98358
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov. & applying White washing , Clearance of choked drains between R.D. 32/000 to 33/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
Total						98358
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98358

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 33/000 to 34/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
Total						98358
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98358

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 34/000 to 35/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
Total						98358
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98358
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of choked drains between R.D. 35/000 to 36/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
Total						98358
(Quoted Rates in Figures)(+/-)				(..... %)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98358

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov. & applying White washing , Clearance of chowked drains between R.D. 36/000 to 37/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
Total						98358
(Quoted Rates in Figures)(+/-)				(..... %)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98358
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 37/000 to 38/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
Total						98358
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98358
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov. & applying White washing , Clearance of chowked drains between R.D. 38/000 to 39/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
Total						98358
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98358

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov. & applying White washing , Clearance of choked drains between R.D. 39/000 to 40/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	748	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54282
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
Total						98358
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98648
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of chowked drains between R.D. 59/000 to 61/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	752	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54573
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	754	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20268
Total						98648
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:-	98702
Earnest Money Rs:-	2000
Time.	3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov.& applying White washing , Clearance of choked drains between R.D. 61/000 to 63/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	752	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54573
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	756	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20321
Total						98702
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98702

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov. & applying White washing, Clearance of choked drains between R.D. 63/000 to 65/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	752	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54573
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	756	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20321
Total						98702
(Quoted Rates in Figures)(+/-)				(..... %)		
(Quoted Rates in words)(+/-)						


 Executive Engineer,
 NH Division HPPWD,
 Theog.

SCHEDULE OF QUANTITY

Estimated Cost: Rs:- 98783

Earnest Money Rs:- 2000

Time. 3 Month.

Name of Work :- Maintenance of Theog Kotkhai hatkoti Road K.M. 0/000 to 69/000. (SH:- Cutting of Grass and bushes, Prov. & applying White washing , Clearance of choked drains between R.D. 65/000 to 67/000)

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	752	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54573
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	759	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20402
Total						98783
(Quoted Rates in Figures)(+/-)				(.....%)		
(Quoted Rates in words)(+/-)				(.....%)		

Executive Engineer,
NH Division HPPWD,
Theog.

SCHEDULE OF QUANTITY

Sr. No.	Description of item	Quantity	Unit.	Rate		Amount
				In figure	In words	
1	Clearing grass and removal of rubbish up to a distance of 50 metres outside the periphery of the area.	4800	Per Sqm.	4.96	Rupees Four and Paise Ninety Six Only	23808
2	Removal of earth from the choked hill side drain and disposing it on the valley side manually.	752	Per RMT	72.57	Rupees Seventy Two and Paise Fifty Seven Only	54573
3	White washing with lime to give an even shade :Old work (one or more coats) on Parapets , Trees, B/wall and V-shape drain etc. As per direction of Engineer-in-Charges.	759	Per Sqm.	26.88	Rupees Twenty Six and Paise Eighty Eight Only	20402
Total						98783
(Quoted Rates in Figures)(+/-)				(.....%%)		
(Quoted Rates in words)(+/-)						

Executive Engineer,
NH Division HPPWD,
Theog.